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ر�� ا������ ��2  

  1 ا���� وا���رة
  1ا������ 

 ��� ��� �	
�S  
��+-�,� +�*��(ى  α=10°%$� #�"�� �!او��  m=500g  ����� �����V=2m/sآ���
  . ا01/. 

و#-�Cه� �$S  �>?�@f=1N  �>3�# 4C-# D=(ة ا;:�$�ك ا+*8,/� #7 �6ف ا+�$� ��4 ا+��3 
  .  Vا+���� 

L	�,� . ��4 ا+�$� �(ا�C*� K,?�# G,: �8%ك ، ا+G��= �HI G,C ا;#��اد وآ���
 #<*��  S��� �� ا+��3 
  . ا?�3ه<� �(ازي ا+KQ ا1آ,� #S   PHا+*8,/� #7 �6ف ا+G,C ��4 ا+T  ��3أن ا?M�3 ا+/(ة 

  . وا:�� @�ا?<�  Sــ أ��د ا+/(ى ا+*8,/� ��4 ا+��3  1
2 +�/�Lل اPV ا+/(ى MWل ه�X@�0 ــ ا:�� أ��*� 
3m  4��

 G"�*+ا+*��(ى ا .  
 .  Tــ أ:�� ا+/�رة ا+*,�و+� #7 �6ف ا+/(ة  3

  2ا������ 

 ��� [+!-�S  GVدا \
L �>��	@ ، آ�ة ��ون ا:�$�كr=50cm 
 7# ،A  )CLB  . ��3+آ��� اM=100g  .  

.  A  )CLBأ:�� @GX وزن ا+��3 �-� ا�L/�ل ا+��3 7#  
 .8	Lg=10m/s2 
  *3ا������ 

��L	�C# G*آ� +�3 ��� ����� ����� 0(ق b8% أ0/. 
  . #d ا+��α=30°  b8(اG,: �8% �$(ن زاو�� 

?$(ن @�ة ا+/(ة ا+*���8 #7 �6ف ا+G,C ��4 ا+��3 ه.  P=400Wــ �-� ا@��Xل ا+*�Cك �/�رة  1
140N  . ��3+أ:�� %��� ا .  

2  b8% 4+ا01/. إ b8�+ا+��3 #7 ا G/�-� ــ
#� . ��+-�,� +��b8 اG"�#β=15°  ./01 �!او�� 

ه. ا+/�رة ا�H0�ij ا+�. ��3 أن �,�+<� ا+*�Cك 
 M�3?ظ ا�lCLا d# ��3+آ� ا�: �HX�? ; .آ

.8	L 3<� ا+/(ة ؟�# :m=20g 
  4ا������ 


�L�� 1kW  ��L�3�# ���=  �(ا�C# �8%ك =�ر?
 M�8=D=10cm  �����1000 ����� ?��وي  �/H=�+دورة  0. ا.  

  .ا%�-�H= u*� ا+���� ا+!او�� +�/�ص . Hz+�وران ا+/�ص ��+(:�ة  Nأ:�� ا+��دد  -1
 أ:�� ا+���� ا+KHC# 7# �8/-+ �H8Q ا+/�ص  -2
  .ا+Wي L	�M�, ����� +�*!دو�� ا+*�Cآ� ا+�. �8,/<� ا+*�Cك ��4 ا+/�ص  Mأ:�� ا+	!م  -أ-3

  دورات  10أ:�� @GX هMW ا+*!دو�� �-�#� �-3! ا+/�ص  -ب-    
و��+��+. L(=\ ا+*�Cك �7 ا;@��Xل و�H%�*# [,8L ��4 ا+/�ص =(ة #/�و#�  ,�L�� آ,b :�آ� ا+/�ص  – 4 

F
r

  �>?�@F=25N .  
دورة آ�#�� #{G$@ 4�� G ا+/(ة  PL50:| أن ا+/�ص ��(=\ �-� ا+�Cآ� �	� إ�3Lز 

F
r

  GX~+وا:�� ا( )W F
r

 . 

  5ا������ 

، و=���� +��وران :(ل 50cm=lوLm=200g  �>+)6	�,� ��ر��L�3�# �i آ���<� 
)#C(ر أ0/.    .  O#�ر 7# ∆(

 )CL 
�CLر ا+	�ر�H: ."�� di)# 7# �i ?$(ن ا+!او�� �H-<� و�C# 7H(ر رأ%. #(�

Ozا4��1 
uur

45αه.  = °.  
أ:�� ا+~GX ا+Wي �-M!3 وزن ا+��C+ 7H� ��3 اP8L=<� و+��C #�وره� 1ول #�ة 

  . #7 ا+KQ ا+�أ%. 
   6ا������ 
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 �>Lوز ، �+)*: d0�+P 1000N= ��او!� G"�# 045(ق #��(ىα = ° G*	��L ، ./0ى أ)��*+ �,�-+��
�R$�ة @	��<�  20cm= ك�C# �8%ر ���� �(ا)C# :(ل ����� ��ا;:�$�آ�ت . ?�ور ����� زاو �,�	L

ا+*���8 ��4 ا+C*(+� #$���0 +/(ة و:�Hة @�?<� 
P

f
5

=  

1  �>�>3�# G}#4 ا+,$�ة ، و�� G,C+7 @�ة ا+/(ة ا+*8,/� #7 �6ف اH� ــ .  
ــ أ:�� ا+	!م  2

mM ك ��4 ا+,$�ة +�*!د�C*+8,/<� ا�آ� ا+�. �C*+و�� ا .  

,: ــ أ:�� =�رة ا+*�Cك ، ��*� أن %��� ا+C*(+� ه.  3 /v 0 5m s=  .  
�����7  

0(ق �6�G"�# .*H/��# [ ��+-�,� +�*��(ى  m’=600kg، ���� آ���<�  �H% �3?m=1200kgرة آ���<� 
 Mر�= GH*� ./0110ا%  ����+��V=54km/h  PH# �,ا1آ KQ+ا;:�$�آ�ت ا+*8,/� . و0] ا \��Q# �,�	L

fوا+�. ?8,] ��4 ا+	��� #$���0 +/(ة  4��f  �>?�@f=120N ا+��Hرة #$���0 +/(ة    �>?�@f'=150N  ،
f'و  fا+/(?�ن    ����+3<� ا�# d# ن�����/#V  . ب !#�LF  رة و�H�+ك ا�C# ا+/(ة ا+*8,/� #7 �6فF'  ا+/(ة

  .  Lg=10N/kg	8. . 7 �6ف ا+��Hرة ��4 ا+	��� ا+*8,/� #
1  7H?)/+أو�� @�?. ا ���	رة ، �� ا+�H��+ �,�-+�� ر)
  .  'Fو  Fــ ��H,8] #,�أ ا+/
  .  'FوآF  �+Wــ ا:�� ا+/�رة ا+*,�و+� #7 �6ف  2
3  7H�#7 ا+*/�وH?)/�+ �H�$+ــ أ:�� ا+/�رة اf  وf'  .  
 t=2min∆و@GX وزن ا+��Hرة إذا آ��L #�ة ا+
	(د ه.  Fــ أو�� =GX@ �*H ا+/(ة ا+*�Cآ�  4

 �����8   

 7H��L�3�#7 وH�$%�*�# 7H�Lف #7 أ%8(ا�l�# ن)$��C1  وC2  ر ا+�وران)C# DlL �*>+∆  �*>H��	@و
  .  r2=30cmو  4��r1=15cm ا+�(ا+. 

 �L7 ا1%8(ا$*? �HC� 7H�,: 7H�L4 ا1%8(ا�� \�LC1  �>آ��� �+)*: d07 ر#m=30kg  [��8+إ+4 ا
�-�#� �GX~# [,8 =(ة ����� ��4 �6ف ا+G,C ا+*�l(ف ��V=1m/s  4ا+�ا�d #7 �*�رة ����� ����� 

 �Lا1%8(اC2  . ��*># 
  . ا+G��= �HI G,C ا;#��اد وآ���
 .8	Lg=10N/kg   

  . ا+�. �H,8? �3/<� ��4 ا+d0�+ G,C ا+F  �+)*Cــ �7H @�ة ا+/(ة  1
  .  G/L �-�h=11,2m ا+C*(+� إ+4 ا;ر?�lع  Fــ أ:�� @GX ا+/(ة  2
  . 0. هMW ا+�C+� وا%�-�u #�ة �	(د ا+F  �+)*C ــ أ:�� =�رة ا+/(ة 3
4 L�}+7 0. اH?ور ��ور��ك �C*+�� GX~*+ل ا�,��L GX~+ا DlL �3زLj ك و#�ة ــ�C*+أ:�� =�رة ا ، �H

 �+)*C+(د ا	؟ . � u�-��? ذا�#  
 �����9   

�*{G ا+*,�Hن ا+��+. ?�HXات =�رة #�Cك %�Hرة 0. :�آ� 
L	�,� �!م . #��HXة ��;+� ا+���� ا+!او�� +�*�Cك 

  . ا+*!دو�� ا+*�Cآ� ����� 
  . ــ أ:�� �!م ا+*!دو�� ا+*�Cآ�  1
#7 ا+/�رة ا+/
(�� +�*�Cك  %60ــ إذا ��*� أن  2

?��GX +*/�و#� ا;:�$�آ�ت ، أ:�� �!م =(ى ا;:�$�ك   . 
3  
�H# را�C-# رة�H�+ا �	
����� �����  %10ــ ?

V=90kl/h  .ك ه�C*+ن =�رة ا)$? �H:80kW  أو��
  .  Lg=10N/kg	H= . .8*� آ��� ا+��Hرة 


